

$$a) \quad m_s = 100 \text{ kg} \\ m_e = 5.98 \times 10^{24} \text{ kg}$$

$$r = r_e + 2.00 \times 10^6 \text{ m} \\ = (6.37 \times 10^6) + (2.00 \times 10^6 \text{ m}) \\ r = 8.37 \times 10^6 \text{ m}$$

$$a) \quad PE_G = - \frac{G \cdot m_1 \cdot m_2}{r}$$

$$= - \frac{(6.67 \times 10^{-11} \text{ m}^3/\text{kg} \cdot \text{s}^2)(100 \text{ kg})(5.98 \times 10^{24} \text{ kg})}{(8.37 \times 10^6 \text{ m})}$$

$$PE_G = -4.77 \times 10^9 \text{ J}$$

$$b) \quad F_G = - \frac{G \cdot m_1 \cdot m_2}{r^2}$$

$$= - \frac{(6.67 \times 10^{-11} \text{ m}^3/\text{kg} \cdot \text{s}^2)(100 \text{ kg})(5.98 \times 10^{24} \text{ kg})}{(8.37 \times 10^6 \text{ m})^2}$$

$$F_G = -569 \text{ N}$$